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QUESTION 1

Your application has a read-only cursor. You cannot tolerate uncommitted data but want to make sure that it provides
the best concurrency. Which of the following bind options would provide the locking you need with optimistic locking?

A. ISOLATION(UR)

B. ISOLATION(RS)

C. ISOLATION(CS) CURRENTDATA(NO)
D. ISOLATION(CS) CURRENTDATA(YES)
Correct Answer: D

Reference: https://www.ibm.com/support/knowledgecenter/en/SSEPEK _11.0.0/perf/src/tpc/ db2z_isocs.html

QUESTION 2

Your current authorization ID is DBA. Only one of your secondary IDs, DB2, has the privilege to drop an existing index
DB2.AAA on a table. The appropriate SQL statement is "DROP INDEX AAA".

Which of the following statements must precede the DROP statement so that it drops the index?
A. SET CURRENT PATH = "DB2\\}

B. SET CURRENT RULES = "DB2\\;

C. No preceding statement is needed

D. SET CURRENT SCHEMA = "DB2\\;

Correct Answer: D

QUESTION 3

Which option is used with the RECOVER utility when the data sets of the target objects have already been restored to a
point of consistency by another process offline?

A. LOGONLY

B. FROMDUMP

C. TOLASTCOPY

D. CURRENTCOPYONLY

Correct Answer: A
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Reference: https://www.ibm.com/support/knowledgecenter/en/SSEPEK_12.0.0/ugref/src/tpc/ db2z_recoversyntax.html

QUESTION 4

While DSN is running, which of the following commands CANNOT be successfully executed?
A.-STOP DB2

B. -START DB2

C. -TERM UTILITY

D. -DISPLAY UTILITY

Correct Answer: D

QUESTION 5

A view is considered read only if which of the following is TRUE?

A. The first FROM clause identifies only one table

B. The outer fullselect contains an ORDERED BY clause

C. The first SELECT clause specifies the DISTINCT option

D. The fullselect includes a column of a base table that is defined as implicitly hidden
Correct Answer: C

Reference: https://www.ibm.com/support/knowledgecenter/SSEPGG_10.5.0/
com.ibm.db2.luw.admin.dbobj.doc/doc/c0052327.html
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